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Question 1. (5 marks)
Find det(A) where

2 1 0 0
-2 1 =20
A= 3 0 0 2
2 -1 3 0

det Q= —72 d@\: z :
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Question 2. (5 marks)

Determine which of the following matrices are invertible. If the matrix is invert-

ible find its inverse.
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0 0 3 0 0
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Question 3. (5 marks)

1 0 1
Find A~! using adj(A), where A = [ -2 1 =2 }

300
Cu= deb(! '3}—:0 b= 2 et ?’i]
Cos ~dat 2= -G - -3
C“% = dot ';-Cﬂ; -2

Cay = “det (S l]= O
Can = dg{[ig (g: -3
Caz =-dot [‘;3 = O
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Question 4. (5 marks)

Use Cramer’s Rule to find the value of x; in the following system of linear equa-
tions.

—2x14+3x3 =1 ‘
xX1+2xp =2 Q{'X = !3 O e S
4x1+x9+x3 =0



